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Chlorfenapyr 5.~ #is 0.5 #» & A | Chlorfenapyr 5. ~ix  #ik 0.5 A B A

Chlorfenapyr s ™% #¥19 0.05 ¥ B A | Chlorfenapyr s ™ #E49 0.05 B A

Chlorfenapyr & ™~ % 715 0.5 # g A | Chlorfenapyr 3. ™~ % 743 0.5 BB A
Chlorfenapyr s ™% 4 iv 0.5 # B & | Chlorfenapyr  # ©~ix % iv 0.5 R B A
Chlorfenapyr % ~i% 2z &% & 1.0 Mg A | Chlorfenapyr 5o ™i k% E 1.0 B A
Chlorfenapyr & ™% F & 2.0 #o g A | Chlorfenapyr s ™~ F 2.0 R B A
Chlorfenapyr s ~i% ¥ & 0.5 M4 A | Chlorfenapyr 5 ™iw & 0.5 BB B
Chlorfenapyr % ™% & ¥ 1.0 B B# | Chlorfenapyr 5. ™ K ¥F 1.0 BB R
Chlorfenapyr s ~i% ¥ & 0.5 # g & | Chlorfenapyr 3 &% % & 0.5 BB B
Chlorfenapyr 5. =% § ¢ 0.5 M B A | Chlorfenapyr 5 &% F ¢ 0.5 BB A

Chlorfenapyr s =% {§# 0.5 BB A&l | Chlorfenapyr 50~k 4 0.5 B A




Chlorfenapyr Fied 0.1 #. B #) | Chlorfenapyr 0.1 BB |
Chlorfenapyr Frome 1.0 #. &4 | Chlorfenapyr 1.0 BB A
Chlorfenapyr 0.5 ¥ 2.# | Chlorfenapyr 0.5 B A
Chlorfenapyr 0.1 #. B #) | Chlorfenapyr 0.1 BB A
Chlorfenapyr 0.5 # &4 | Chlorfenapyr 0.5 BB A
Chlorfenapyr 0.05 #.2.# | Chlorfenapyr 0.05 B A
Chlorfenapyr 0.1 # B4 | Chlorfenapyr 0.1 BB A
Chlorfenapyr 0.05 #. & | Chlorfenapyr 0.05 BB A
Chlorfenapyr 0.5 #.2.# | Chlorfenapyr 0.5 B A
Chlorfenapyr 0.5 # 2.4 | Chlorfenapyr 0.5 BB A
Chlorfenapyr 0.5 #» 2 A& | Chlorfenapyr 0.5 R B A
Chlorfenapyr 0.1 #» & & | Chlorfenapyr 0.1 B A
Chlorfenapyr 0.5 # g A | Chlorfenapyr 0.5 R B A
Chlorfenapyr 0.5 #» & A& | Chlorfenapyr 0.5 PR |
Chlorfenapyr e 0.05 #». & & | Chlorfenapyr 0.05 B A
Chlorfenapyr ¥ 0.05 # g A | Chlorfenapyr 0.05 BB A
Chlorfenapyr ¥e 0.5 #» 2 A& | Chlorfenapyr 0.5 R B A
Chlorfenapyr g 2.0 #». & & | Chlorfenapyr 2.0 B A
Chlorfenapyr 3 0.05 # g A | Chlorfenapyr 3 0.05 R B A
Chlorfenapyr &% 2.0 #» & A& | Chlorfenapyr 5% 2.0 R B A
Chlorfenapyr BE+E 005 M. A | Chlorfenapyr BRE+E 005 B A
9 q
Chlorfenapyr j}: & 0.05 #» & A& | Chlorfenapyr j*é;f & 0.05 R B A
Chlorfenapyr 1.0 M. A | Chlorfenapyr R 1.0 BB A
Chlorfenapyr 0.5 # g4 | Chlorfenapyr Y 0.5 R B A
Chlorfenapyr 0.05 #» & A& | Chlorfenapyr By 0.05 R B A
Chlorfenapyr 0.1 M. A | Chlorfenapyr 0.1 BB A
Chlorfenapyr 0.5 B & A& | Chlorfenapyr & E((#) 05 BB A
Chlorfenapyr 0.5 #» & A& | Chlorfenapyr rg:g B 0.5 R B A
Chlorfenapyr # 0.01* #. 2 &) | Chlorfenapyr H (%% 0.01% BB A
i) i)
Chlorfenapyr Hw (3 0.02* M. A& | Chlorfenapyr Hi (3 0.02* BB A
)™ w)*
Chlorfenapyr Hw(x 0.05% #. 2% | Chlorfenapyr #iw(k  0.05* BB A
" )%
BIHd ofl 3 oA PH s 337 R A3 |REHE A FU K Pv)mw PR A
(ppm) (ppm)
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Cyantraniliprol # % 3%
e

_Cyantraniliprol FE3
e

Cyantraniliprol ?‘: £ 55
e

_Cyantraniliprol FE3
e
Cyantraniliprol 7 % 3+
e

Cyantraniliprol # % 3%
e
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e
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e

(ppm)
7B 1.0
L 3 405
¢ EFN
LB 1.0
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AEx 03
z 0.5
z 0.5
=% 0.12
-2 (#) 1.0
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e
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e
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Cyantraniliprol _,?_ﬁ hE 1.0 AR B A

%yantraniliprol FEx3  EE 0.04 #.fy A | Cyantraniliprol gk % 3% A 0.04 B A

(Caiyantraniliprol FEF Bk 1.3 A B ) (Ca:yantraniliprol FEP H 1.3 He B A

(Caiyantraniliprol ?? £ 3 A3 1.3 BB A (Ca:yantraniliprol % & 5k i+ 1.3 BB A

?:yantraniliprol FEx3 AR 13 B A E?yantraniliprol L3 % /e 13 BB A

Etyantraniliprol % &3 15 BB A E?yantraniliprol % % 5k b 15 AP A

gyantraniliprol FEx3  B&E 0.04 P gyantraniliprol FE3 88 0.04 BB A

E:yantraniliprol FExF Ak 0.5 PR (Ce:yantraniliprol b A 0.5 BB A

(Caiyantraniliprol FEx3 IE 1.5 BB A (Ca:yantraniliprol b ¥E 15 By A

(é:yantraniliprol 3 Ee(#) 10 | )

%yantraniliprol FExyp 2FE 3.0 #.# 4 | Cyantraniliprol # % 3+ 25 3.0 P

?Jyantraniliprol % & 3h V3 15 R B A (élyantraniliprol % & Zh x 15 B A

?Jyantraniliprol % X 5h H 0.8 R B A (élyantraniliprol % & Zh # 0.8 B A

E:yantraniliprol % X3 Hik 1.3 R B A ((e:yantraniliprol % Z 5k i 1.3 B A

(é:yantraniliprol FE dv 1.3 R B A ((e:yantraniliprol FE 5 i 1.3 BB A

(é:yantraniliprol FEP FE 1.0 Rl i

gCyantraniliprol ;ﬁﬁ ¥ B 1.0 BBy A

gCyantraniIiproI FEF Kk 1.3 #. 4 & |Cyantraniliprol %3+ 5Kk 13 A gy A

e e

Cyantraniliprol #% 3 &% & 1.0 B A

e

Cyantraniliprol %% 3 p2 (#) 10 B

e

_Cyantraniliprol P #tda 13 #. A& |Cyantraniliprol %3+ A+ ic 13 A gy A

eCyz:mtraniliprol FE 3 2 1.0 B A i

gCyz:mtraniliprol FExy  EF 3.0 # 4 | Cyantraniliprol # % 3% f 3.0 PI |

eCyantraniIiproI FExx RS 3.0 BB A (éyantraniliprol FE B3 3.0 BB A

(éyantraniliprol R S 4.0 B A (éyantraniliprol FE3 @ 4.0 B f A

eCyantraniliprol % X3 HEE 0.5 BB A ?Zyantraniliprol % & 5k ¥ 5 0.5 B A

éyantraniliprol % %3 Fe(#) 10 BB A i

e

Eﬁ]‘f—’%%’i PR T L TR FFE AL B8 tff FU 04 Thsps 338 #L
(Ppm) (Ppm)

Cyflufenamid % g~ I3 A 0.3 # & | Cyflufenamid % e~ % A 0.3 NoE

Cyflufenamid  # %% A A 0.1 oA | Cyflufenamid % 9% R 0.1 B




Cyflufenamid P N 0.3 #BoFA | Cyflufenamid %5 & % 0.3 B A
Cyflufenamid  # %= % A 0.3 #oFAl | Cyflufenamid %5 4 4 0.3 H )
Cyflufenamid # %= &g & 015 B
Cyflufenamid ENE S 0.07 #BoFAl | Cyflufenamid  # %% @ 2 0.07 B F A
Cyflufenamid # % =% 0.1 #oFA | Cyflufenamid %% =% 0.1 H )
Cyflufenamid # %= #£4% 01 #E# | Cyflufenamid %% +#2% 01 NSE
Cyflufenamid ~ # %% 3 0.05 Bl | Cyflufenamid %59 0.05 A A
Cyflufenamid  # %% & A 0.3 #oFA# | Cyflufenamid %% =S 0.3 B A
Cyflufenamid  # %= & 0.3 #oFA | Cyflufenamid - gk % 9% Cxia 0.3 NSE
Cyflufenamid %% %4 A 0.07 #BoFA | Cyflufenamid %5 X4 4~ 0.07 H )
Cyflufenamid %% & A 0.3 . | Cyflufenamid gk %% A 0.3 H
Cyflufenamid %% =4 0.3 g | Cyflufenamid gk %% =4 0.3 NS
Cyflufenamid %% 4 A 0.07 A | Cyflufenamid  gF %% DS 0.07 H
Cyflufenamid %9 % 2 £ 0.3 . | Cyflufenamid  gF %% Tan 0.3 H
Cyflufenamid g %% %% 0.5 #oFA | Cyflufenamid - gk %-9% irE 0.5 e
Cyflufenamid # %= &+ A 03 #.F# | Cyflufenamid  # %% & 44 0.3 H
Cyflufenamid %% s A 0.3 . | Cyflufenamid - gF %% XU 0.3 H
Cyflufenamid %% A4 0.3 g | Cyflufenamid gk %% A% 4 0.3 NS
Cyflufenamid %% § £% 01 B | Cyflufenamid 7 %% § &£ % 0.1 H
Cyflufenamid %% § § 0.2 . | Cyflufenamid  FF %% 5 0.2 H A
Cyflufenamid  # %% Jg % 05 g | Cyflufenamid %59 d7 % 05 NS
Cyflufenamid =~ # %% f@ 0.5 . | Cyflufenamid  FF %% Y 0.5 H A
RIEdE A 8 bff g F o 2 A B8 o Fu o4 vspsl % 3F £ B3
(ppm) (ppm)

Dicofol Xk F 3.0 Bl ®]

BI'EdE A 8 bff TP F3FE #GE B8 v Fu o4 ivhgsl FFE AL
(ppm) (ppm)

Fenazaquin A LS 0.5 M%) | Fenazaquin A LS 0.5 AR A
Fenazaquin RS AR 0.1 # g | Fenazaquin TS AN EgE 0.1 Bd% A
Fenazaquin HEE S A 01 ¥ %A | Fenazaquin THbs AEH 01 % A
Fenazaquin THLE O FAE 0.5 M%) | Fenazaquin TS OFASE 0.5 A% )
Fenazaquin ML 2= 0.02 #d%A | Fenazaquin THLs 20z 0.02 B |
Fenazaquin THLE TN 0.5 # %A |Fenazaquin R I 0.5 Hh L% A
Fenazaquin TR MR 0.1 %A | Fenazaquin R Mk 0.1 R LA
Fenazaquin THLE MiEH 05 #4%A | Fenazaquin THlE MiEsHE 05 % A




Fenazaquin TS oS 0.1 Ads |

Fenazaquin TEA 4 Aae 01 #A% A | Fenazaquin TEAE 4 A4 01 B A
Fenazaquin FALE R 0.02 M%) | Fenazaquin THLE E R 0.02 Bobn A
Fenazaquin THAE RAE 20.0 #4% A | Fenazaquin RS RN 20.0 B A
Fenazaquin AL X F 0.1 #i%A | Fenazaquin TELE X F 0.1 R A
Fenazaquin TALE #HExHE 05 B %A | Fenazaquin TALE #HEHE 05 A )
Fenazaquin THLE A 0.1 # %A | Fenazaquin RS A 0.1 B L%
Fenazaquin RS T A 0.1 #i%H | Fenazaquin Er S T A o 0.1 PR T
Fenazaquin TALE far 0.1 #4%AH | Fenazaquin NS ) Ao 0.1 Bobn A
Fenazaquin THLE Fi 2.0 #4%A | Fenazaquin RS F 2.0 B A
Fenazaquin TALE R 0.1 #i% A | Fenazaquin TALE R 0.1 AL |
Fenazaquin THELE OFF 0.1 # A% A | Fenazaquin NS OFF 0.1 R 3% |
Fenazaquin THS e 0.5 B %A | Fenazaquin TS e 0.5 B R
Fenazaquin TS A 0.1 M%) | Fenazaquin THLE SR 0.1 AL |
Fenazaquin SRS OB J:F% 0.1 ¥ g | Fenazaquin TR OB Jf: 0.1 H L% A
Fenazaquin THL B #H 0.2 M 4% | Fenazaquin THL B #H 0.2 Hd% ]
Fenazaquin N ET 0.5 #a%F | Fenazaquin Ny ET 0.5 PISE ]
Fenazaquin s EH 0.1 #d%A | Fenazaquin Ly EH 0.1 % |
Fenazaquin THLE #hAae 01 #4% A | Fenazaquin THLE #Eae 01 By A

Fenazaquin RS H ¥ (g% 0.01% ¥ %A | Fenazaquin A% H ¥ (g% 0.01% R L% |

57)* #7)*

Fenazaquin s #H ow (2£0.02* #o%# | Fenazaquin Hs H w2002 %)
Fenazaquin Ay H # (F 0.05* Hodn#) | Fenazaquin Ay H # (F 0.05* Bd% A
)* )"

B oA 3 o4 TeR e B3R HGn (RFHE L L4 TR FFE AL

(ppm) (ppm)
Flonicamid iR 7 B 2.0 # B A | Flonicamid iR 7 E 2.0 R B A
Flonicamid R L E A 0.4 # B A | Flonicamid i R 5 A 0.4 R B A
Flonicamid i RR AR 0.4 2 # | Flonicamid ER R NS 0.4 B A
Flonicamid iR L g 2.0 # B A | Flonicamid iR Lz 2.0 R B A
Flonicamid iR 2 xRnE 8.0 # B A | Flonicamid &R 2%k E 8.0 BB A
E E
Flonicamid # R XEmE 80 #». & A | Flonicamid # R XEmE 8.0 R B A
E E
Flonicamid i RR AR 0.4 ¥ B & | Flonicamid i RR AR 0.4 B A
Flonicamid R EFRE 0.2 # & & | Flonicamid &R EFRE 0.2 BB A
Flonicamid R R ARE 1.0 # B A | Flonicamid LR RFAE 1.0 BBy A
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Flonicamid Lk BB #» B & | Flonicamid i R Ltk R E 15 B B A
Flonicamid AW # B & | Flonicamid i Rk 0.4 PR |
Flonicamid ¥ % # B A | Flonicamid & R 0.07 BB A
Flonicamid ¥= #. & & | Flonicamid i Ko 2.0 BB A
Flonicamid ® B #. & A | Flonicamid L R 2.0 BB |
Flonicamid A% A # B A | Flonicamid & R 0.4 BB A
Flonicamid 5 £ % # B A | Flonicamid i Rk 0.4 A B B
Flonicamid ¥ ra # B & | Flonicamid i Rk 0.4 R B A
Flonicamid % B #.# 4 |Flonicamid & &% 2.0 e 2 A
Flonicamid BE (#) #. & & | Flonicamid i Ko 2.0 BB A
Flonicamid ¥e # B A& | Flonicamid i R 2.0 AR R
Flonicamid ¥ # B A | Flonicamid a R 0.6 B A
Flonicamid 5 # B A | Flonicamid R iz 0.2 R B A
Flonicamid e (#) # & & | Flonicamid KR 2.0 BB A
Flonicamid Hu(FES # B & | Flonicamid R H W (3% 0.01* B A
5)* H*
Flonicamid Hw (3 # B A& | Flonicamid Rz Hu (3 0.02% R B A
5)* 5>
Flonicamid 2w (F # B A | Flonicamid Rz Hu@(F  0.05* A B A
5)* H)”
RIEgd o4 4 1 47 57 % # 3L REEE off 48 0f vh 8N FFd A
(ppm)
Fluopyram e A A
o) ﬁ %*‘fz;;“g
Fluopyram L EFIE BEAH | Fluopyram & ezl 2.0 B
P EFY
Fluopyram ¥ BAA | Fluopyram 4 ey 0.15 B
Fluopyram Lk & A A
Fluopyram L 2 A A
Fluopyram *BRRE A A
F
Fluopyram R EF# | Fluopyram Tl 0.8 B
Fluopyram VAT R B Fluopyram & v 0.8 B A
Fluopyram £ 5 A
Fluopyram Ly A A
E
Fluopyram =R B FHH | Fluopyram eI Nt 0.02  AEMH
Fluopyram Sk A | Fluopyram iz A% 04 A
Fluopyram AU BAH | Fluopyram o A¥w 05 A e )




Fluopyram nxz v BE 07 B
Fluopyram v 43 0.03 B
Fluopyram ERE - B 0.8 M F# | Fluopyram ER - I 0.8 BB
Fluopyram iy FE 0.03 A A
Fluopyram ES- IS 0.8 H A | Fluopyram ETS- IS 0.8 A A
Fluopyram & B2 E 0.03 B A
Fluopyram ey Huwize 007 H A | Fluopyram iy Hugzes 007 BB
HEE HOE
4 -5 4 ~EL
B g B
Ll g )
Fluopyram woer Hu 4% 05 A | Fluopyram i He % 05 A
CACAIE S CACARE S
Tz h) Feeg eh)
Fluopyram ERRLE < I I <2 0.3 M A& | Fluopyram ERRLCS - L I 0.3 A
Fluopyram RS A 0.7 LGkl
Fluopyram ENRLE= R O 0.4 #.A# | Fluopyram %3 Wk 0.4 B
Fluopyram & v3E M 0.5 LGkl
Fluopyram & %3E 3 0.5 LGkl
Fluopyram ioiwzy e 0.5 A | Fluopyram ERS - I 1 4 0.5 A
Fluopyram FEE I E S 0.1 M A& | Fluopyram FE = S} 0.1 A A
Fluopyram ERCE - B 0.8 M A& | Fluopyram ERRLS -] i L 2 0.8 H A A
Fluopyram PGS 0.1 Gkl
Fluopyram i, %Td k¥ 0.7 B
Fluopyram L #EREF 01 H A | Fluopyram L #EF 01 BB
Fluopyram e A 0.4 A | Fluopyram ERRLE = 0.4 A
Fluopyram ERLE: T 3 0.7 A
Fluopyram LS TS § 0.7 LGkl
Fluopyram v A RAae 04 A | Fluopyram iy A NRae 04 A
Fluopyram v A E 0.8 M A | Fluopyram vz A E 0.8 A
Fluopyram v e p 0.3 M A | Fluopyram Lwzh T ap 0.3 BB
Fluopyram FAPLE - T 0.4 H A | Fluopyram ENPL% - B U 0.4 A A
Fluopyram ERRE = S 5.0 H A | Fluopyram ERRS = S 5.0 A A
Fluopyram ERLCE T 0.7 B R
Fluopyram Low3 Y E 15 H A | Fluopyram xowr ¥FEF 15 A A
Fluopyram iy AR 0.8 A FAH | Fluopyram iy AR 0.8 A A




Fluopyram ix3  gre(sz) 0.15 H A | Fluopyram ixx  Ere(sz) 015 A
Fluopyram vy BeE 01 #A# | Fluopyram vz B#E 01 A
Fluopyram oy B3R 1.0 M F# | Fluopyram Loz 3R 1.0 BB
Fluopyram w44 0.04 M A | Fluopyram ER%- B S 0.04 R
Fluopyram iowr Ay 0.04 H A | Fluopyram #wr  HER 0.04 R
Fluopyram i Al 0.4 M A | Fluopyram i Ak 0.4 BB
Fluopyram Lo A% 2.0 M A | Fluopyram 43y AETE 2.0 R
Fluopyram ERRTE = S A A 2.0 H A | Fluopyram ERPE = S R A 2.0 A A
Fluopyram ERRTE N A 0.4 H A | Fluopyram ERRTE = S A 0.4 BB
Fluopyram ERSTE - I S A S 0.8 H A | Fluopyram iwrd A 0.8 A
Fluopyram ERRLE | Lk E E 20 H A | Fluopyram & oway BikEE 20 H A A
Fluopyram vy ¥E 1.5 M A& | Fluopyram ERRLE - 15 A
Fluopyram & /%38 3% ¥ 07 A

Fluopyram iz ¥E 0.09 HFA# | Fluopyram fiw  ¥E 0.09 A
Fluopyram ENCE- S 0.5 LGkl

Fluopyram ERSTE= I A 2.0 H A | Fluopyram iy 2 F 2.0 H A A
Fluopyram ENRCE - B A 2.0 A | Fluopyram owzy 2.0 A
Fluopyram ENPLS - I o 0.1 A F A | Fluopyram i zh EFid 0.02 A A
Fluopyram ERSTE = 2.0 H A | Fluopyram ERRLS -] 5 2.0 H A A
Fluopyram sy ¥ 5@ 50 #.E# | Fluopyram i T H@EE) 50 B
Fluopyram ERRTE = I ) 0.5 HF# | Fluopyram ENRLS -] ¥ E 0.3 A A
Fluopyram Lzh B 0.8 M FA | Fluopyram i wzh g 0.8 A A
Fluopyram & %FE iR ER 0.03 Gkl

Fluopyram ERRTE = S 51 0.4 M A | Fluopyram ERRTE = I (51 0.4 A
Fluopyram Lows  EH 2.0 M FA | Fluopyram Lowr  EH 2.0 BB A
Fluopyram iy mE 1.5 A | Fluopyram Lrh mE 15 BB A
Fluopyram ey mEic 0.15 M A | Fluopyram w3 BB 0.15 A A
Fluopyram ez #Eie 04 M FA | Fluopyram &y #rdic 04 BB
Fluopyram &y EF 0.03 B

Fluopyram ERRTE I (98 0.8 H A | Fluopyram ERPES = B £3: 0.8 A A
Fluopyram iz R E 2.0 H A | Fluopyram iz fapE g 2.0 BB
Fluopyram & %3y 7 0.03 B

Fluopyram i B 0.5 H A | Fluopyram i By 0.5 A A




Fluopyram ENe% - B o 3 2.0 H A | Fluopyram &y EF 2.0

Fluopyram ERRT S I+ S0 0.7 H A | Fluopyram ERPE I+ 10 0.7

Fluopyram ERLE I % ) 0.03 B FH

RRHE o4 € b Thigs FFE AL R ol §38 o f vh8as FFE
(ppm) (ppm)

Mefentriflucon ;= % A < B 0.4 A A

azole

Mefentriflucon ;= % < & 2.0 A A

azole

Mefentriflucon ;= %> @& -] & 0.3 A

azole
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